N1 B&2RF-FHF Y M5 AE 8 PRIEFAE FD

g

1. 356 SRR ]

FAEN B R

&

gz~ sk gAr | 111/12/29 (2 ) 00:01~112/01/04 (=) w1t 23:59

£

55— ZaiESE4Z 101,102,1038,105 ; 106,107,109,111 /R Ef
N e BEEEEE LT AT s
}:\” bFFF %A" §/’J\> l% F‘T‘
1 R T 1 B
2 Y 1 FREEE A
3 EHGE 1 PYUR [ ]
4 M FC 1 FaLrEge F—fgs "7 L
5 LSk 1 SDGs £/ &, 7 4 T EEZER —RAE
L —'31‘ 'diﬂ‘f'f? *‘# —'31‘
6 g@li?ﬁ! 1 ! g 28 %E;I!iff 4/ :JP;.E] R 56;
47 2
= ZaiEEEE
XE R EEDTK ¢ 201,202,203,205
, B 5 AEBE L .
J=3 4l > =)
F %A" (2 §A\) l% FT
. F LA -~ & H ek
1 ¥ 4B 2 o
2 B 2 B4 2 ERTRLE. [ R ]
3 ¥ Py 2 RS R A—fufE “T/5” L
L z s, 20 S F S OB 3
5 i e 2 A FEAY
6 HPY 2 AR
B "B AA TR  206,207,209,211
5= % IR RAR L )
20
1 % ka7 2 R4 L
) 3 , |- AReh A E [ ]
" AR iR FE ] B — &4 ST 157
3 | EmBeETE | 2 A PR ETEHEEZER—3
4 ot 2 | BB PERREL 2 %
5 HpY 2 A PR 2




5= B=EHEF 201,202,203,205 ; 206,207,209,211 HEf

F BoEMHARLHE (FE=ZT 25682 4/%) e

1 FRH T FrietE [ 5% ]

2 ik ki A—fr 24 “rE”

3 = R 3 (TR A \
\}Eﬁrﬁ > al — 3

4 *1(153%\ ) —]:T = /\H 1%%% [—] u;!E(

5 faEiiles B Akt 12

®Z ZiBGRAE
M SRR 0 301306 o F 82 FES 3 BRI

v 2

AR R HRE TR EE- P B LA E G SRR T

e § 2 & g5 <=8 ¥ P 3 ; %g—;‘r_
=354 N AT LA ke Sl i d e B
> BT g TEY (- %K 3E)
E2 R4 L e B poy (- 8%3%)
TR —* w7
; R B (- %% %)
/fwfﬁ?‘:-’é"
5 )
- BREFFEF | 0T | (- BRD)
2
1-2 = 45
(R ] F—fr s
(7F) R ] WASIT | (- agkz) | 1 ETemEE
F— A
AR EHE A R | Rak | (- HEKE)
FI AT L PLEET | dE R ®HRRE 3
AL
T BpTw e | (- K E)
L B R4 L gk ELE | (- 4%k3)
é% 2wy w8 - e
o B (- 8%3%)
(TF) e
#¢ Bor-Arduinoi® | FPE | pmasmi




5 4y

%)

1-2
(7TF)

dpFEay 1l | P | (- axd)
(- N FROE 2 %ifg/ﬁ
éﬁfﬁ%acﬁzﬁgﬁf@* gz | Tz 3
T EE T ER S HCET 59
R4 BB FERA | (-&KR)

(- &FKZ)

Ve
BEEFEF AT A (- &%k E)
A ERAME R PR A | FuEE (- 5%3%)
tpEmpe | wsn | CERE
Zmk]E T AR ?




XE =B AP ¢ 307,308,309,311 = & =5 2 FE 13 2 BB HAL

PE | & A A & A IR SR B
BETH FRz | (- s%E)
B R4 B Ehi M E 4o (- % %F)
% Hp
- | 2 F A 1l EEESS (- 8%%)
1-2
P PR ORI (- 5%%)
£ 4% App A2V & 2 iR Tk E 4
- MR A FHNE | KT R & o
L . (- 8&%%)
FEIETIED IES
XA E— B E R , , ,
P " A | (- ax3)
5 g |
=
=2 dEs e, W% 43
(@ 2F)
TR 4L i B4 ] ?

B4t




